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Using the mean-variance criteria, identify whether
one security dominates or whether there is no
dominance for each posible pair of securitics

Tor Johnson has identified the following securities
for a portolio
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Compute the expected return of the portfolio.
Compue the beta of the portfolio.

Stock X has a standard deviation of returns of 0.,
and Stock Y has a standard deviation of 0.4. The
correlation of the o stocks is 0.5. Compute the
standard deviation of a portfolio vested half in X
and half inY.

The expected standard deviation of market returns is
0.20. Maria Houseman has the following four stocks:
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